
lim
x→ 0

1− cosx

x2
.

f(x) =
x√

x2 + 3
+

1

x+ 1

x = 1

min |3 + 2i− z| |z| ≤ 1

∫
(5x2 + 1)e2x dx.

x− 2y + 2z − 8 = 0, x+ z − 6 = 0.

y′′ − 2y′ + y = 6xex.

x!− 1 = y2.



xn (n = 1, 2, . . .) yn (n = 1, 2, . . .)

xn + yn xnyn

|z +
√
3| = |z − i|.

lim
x→ 0

sinx− x

x3
.

ẍ+ 4x = 0

t −→ +∞

∞∑

n=1

x2n−1

2n− 1
.

2n
∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣

a 0 0 . . . 0 0 b
0 a 0 . . . 0 b 0
0 0 a . . . b 0 0

0 0 b . . . a 0 0
0 b 0 . . . 0 a 0
b 0 0 . . . 0 0 a

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣

x y

y =
√
x2 + 6x+ 25 +

√
x2 − 10x+ 29

4x2 + 12xy + 5y2 = 2015.



xn yn (n = 1, 2, . . .)

xn + yn xnyn

z · z̄ = 41
|z − 9|+ |z − 9i|

lim
x→ 0

ln(1 + x)− x+
x2

2
− x3

3
x4

.

ẍ− x = 0

t −→ +∞

∞∑

n=1

(−1)n+1 x
2n−1

2n− 1
.

n ≥ 2
∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣

x y 0 . . . 0 0 0
0 x y . . . 0 0 0
0 0 x . . . 0 0 0

0 0 0 . . . x y 0
0 0 0 . . . 0 x y
y 0 0 . . . 0 0 x

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣

x y

y =
√
x2 + 8x+ 20 +

√
x2 − 16x+ 73

2x − 2y − 1 = 2015.



lim
n→∞

xnyn = 0.

lim
n→∞

xn = 0, lim
n→∞

yn = 0 ?

z2 z
−1− i 2− i 2 + 2i −1 + 2i

lim
x→∞

x

(
π

4
− arctg

x

x+ 1

)
.

ẍ+ ẋ = 1

t → +∞

x− 4x2 + 9x3 − 16x4 + . . .

n ≥ 2
∣∣∣∣∣∣∣∣∣∣∣

1 2 2 . . . 2
2 2 2 . . . 2
2 2 3 . . . 2

2 2 2 . . . n

∣∣∣∣∣∣∣∣∣∣∣

X {0; 1;−1} {1/3; 1/2; 1/6}
"xx2

a

|x2 + 2x− 3|− 2a = |x− a|+ 3

x2 + 10xy − 5y = 3.



lim
n→∞

xn = 0

yn, n = 1, 2, . . .

lim
n→∞

xnyn = 0?

Re
2

z̄ + 1
< 1.

f(x) =
cosx

1 + sinx

x = π/2

ẍ− ẋ = 1

t → +∞

x+ 2x2 + 3x3 + . . . .

n ≥ 2
∣∣∣∣∣∣∣∣∣∣∣

1 2 3 . . . n
−1 0 3 . . . n
−1 −2 0 . . . n

−1 −2 −3 . . . 0

∣∣∣∣∣∣∣∣∣∣∣

.

x = (x1, x2)T y = (y1, y2)T

{
y1 = x1 cosα+ x2 sinα,
y2 = −x1 sinα+ x2 cosα,

M [
◦
x
◦
x
T
] =

(
5 1
1 3

)
.

α y

a
{

(x− 4 sin z)2 + (y + 4 cos z)2 = 1,
|x|+ |y| = a.

(x; y; z)

3x = y2 + 1.



{an}

an =
sinn

n
?

Im
2

z̄ − 1
≤ −1.

f(x) = cos2 3x

x = π/12

y′′ − 2y′ − 3y = e4x.

∞∑

n=1

(n!)2

(2n)!

n ≥ 2
∣∣∣∣∣∣∣∣∣∣∣

0 1 1 . . . 1
1 0 1 . . . 1
1 1 0 . . . 1

1 1 1 . . . 0

∣∣∣∣∣∣∣∣∣∣∣

.

x = (x1, x2, x3)T y = (y1, y2)T

{
y1 = x1 + x2 + x3,
y2 = x1 − 2x2 + x3,

M [
◦
x
◦
x
T
] =




1 1/2 0
1/2 4 0
0 0 1



 ,
◦
x= x−M [x].

Ky1y2

a
{

(x− 2)2 + (y − 5)2 = 9,
y = |x− a|+ 2


